Number- Bond Tests

Know addition facts for
3, kand 5

What is 4+ add O?
What is 2 more than 37
Total 3 and |.

What is 3 and 2?7
Add 2 1o 2.
What is 2 plus 27

Add together 3 and O.
What is the total of L+ and 1P

Know subtraction facts
Jor 3, k- and 5

What is 5 subtract 2?
What is 3 less than 42

Find the difference between L

and 2.

What is L take away 4
Subtract | from 5.
What is I minus 3?7

Take 3 from 5.
Find the difference between 2 and 3.

Know all addition facts
For- 10

Complete each to make 10.

6+ 3+ 7+
5+ 8+ |+
O+ |O+ 2+

Subtract ones from |0

What is |0 subtract 2?7
What is 6 less than 107

Find the difference between 9

and 10.

What is |0 take away 4+
Subtract 5 from 10.
What is 10 minus 3?

What is 10 take away 57
Find the difference between 7 and 10.

Know addition facts for
6 and 7

What is 3 add 37 What is 7

more than OP
Total 6 and |.

What is 3 and L?
Add 2 1o 5.
What is 2 plus L?

Add together 6 and O.
What is the total of 5 and I?

Know subtraction facts
Jor 6 and 7

What is 7 subtract 2?
What is 6 less than 67

Find the difference between 2

and 6.

What is 6 take away 4+
Subtract 5 from 7.
What is 6 minus 3?7

Take 3 from 7.
What is 7 take away 4+

Know addition facts for
8 and 9

What is 3 add 37
What is 7 more than O?
Total 6 and |.

What is 3 and L4
What is 2 plus 47
What is I more than 2?7

Add together 6 and O.
What is the total of 5 and I?
Add 2 to 5.

Know subtraction facts

Take 3 from 8.

What is 8 take away 47

What is 8 subtract 2?

For 8 and 9 What is 8 take away 4+ Subtract 5 from 8. What is 6 less than 9
What is 94 minus 37 Find the difference between 9 and 2.
Add 10 to a I-digit Add together 8 and 10. What is 3 and 10? What is 10 add 2?
number What is the total of 4 and 107 Add 10 to 6. What is 5 more than 10?
What is 9 plus 10? Total 7 and 0.
Know 10 more or What is 10 add 207 Add 10 to 60. What is 4O take away |07

IO less than multiples of
(0]

Total 70 and 0.
What is 30 and 10?
Take 10 from 80.

What is 90 plus 10?
What is 90 minus 10?7

Find the difference between 60 and 10.

Add two I-digit numbers

What is 9 add 27
What is 5 more than 7?

What is 3 and 8?7
Add 6 to 6.
What is 9 plus L+?
Total 7 and 6.

Add together 8 and 7.
What is the total of 4+ and 87

Know all addition facts

Make each total 20.

for 20 a s 19+
16 + 2+
0+ 2+
7+ I +
6. Subtract ones from | What is 20 sublract 87 2 and. 20, What is 20 take away 72

20

What is 6 less than 207

What is 20 take away 4+

Subtract 5 from 20.

Find the difference between 20 and 9.

Add a |-digit number
to a ‘teens’ number

What is 9 add 12?
What is 5 more than 177
Total 7 and 16.

What is |3 and 8?
Add 6 to 16.
What is 9 plus 147

Add together 18 and 7.
What is the total of Il and 87

Subtract a |-digit number
from a ‘teens’ number

What is |5 subtract 8?

Find the difference between 17

and 9.

What is 13 take away L2
Subtract 5 from 12.
What is 16 minus 9P

Take 7 from I5.
What is It take away 67

Add three I-digit numbers

3+2+7
7+8+9
6+6+5

6+5+1
8+Lk+3
4+2+72

+

7:6+5
s+l 4+
747+l

+

+

+




Know addition and

What is 5 add 67

Add 2 to II.

Find the difference between 7 and Il

subtraction What is 7 more than 67 What is 12 subtract 2? What is 12 take away W2
facts for 11, 12, 13 Total 7 and 5. What is 6 less than 137
What is 3 and 8?
Know addition and What is 9 add 67 Add 2 to I5. Find the difference between 7 and 16.
subtraction What is 7 more than 10? What is 17 subtract 2? What is 16 take away 82

facts for 15, 16, 17

Total 7 and 8.

What is 6 less than 15?7

What is 3 and 13?

Know addition and What is 9 add 107 Total 7 and 12. What is 18 take away 67
subtraction What is 7 more than 117 What is 3 and 15? Find the difference between 18 and 8.
Facts For 18, 14 What is |9 minus 10? Add 2 to 16.
Add a two-digit number What is 2 add 237 What is 36 and 5? Add together 83 and L.
and ones What is 6 greater than 527 Add 5 to 67. What is the sum of 69 and 3?7
Total 77 and L. What is 98 plus I?
What is 55 subtract 2?7 Subtract 8 from 62. Find the difference between 76 and L.
Subtract ones from a 2- | What is 3 less than 477 What is 948 minus 9 Find the difference between 69 and 3.
digit number What is 7| take away 2?
Add a multiple of 10 to a | What is the total of 42 and Add 50 to 67. What is 60 greater than 527
two-digit number 70? What is 948 plus 10? Total 77 and LO.
What is the sum of 69 and 307 Add together 83 and 4O. What is 36 and 507
Total 87 and 4O.
Subtract a multiple of 10 | What is 55 subtract 207 What is 71 take away 207 What is 45 take away |0?
From a two-digit number | What is 30 less than 477 Subtract 20 from 62. Find the difference between 69 and 30.
Find the difference between 76 What is 948 minus 940? Subtract 4O from 4.
and 4O.
Added to any 2-digit _____+57-60 _+72-80 ___+38-=4LO
number to make the next
10 33+__ =40 W+ =50 ____+4a-100
55 +__ =60 N+___ =20 76+ =80
Add multiples of 100 Total 300 and 200. What is 300 plus 100? What is 200 add 900?
What is the sum of 300 and Add together 800 and 200.  Increase 500 by 700.
L0oo? Add 300 to 600.
Subtract multiples of 100 | What is 500 subtract 100? Take 800 from 900. What is 500 take away +00?
Decrease 600 by 200. What is 1100 take away Subtract 500 from 800.
What is 400 minus 5007 200°
Add. a 'near multiple’ of | What is 25 add 2 What is 39 and L+5? Add together 8l and 24
10 to a two-digit number Increase 53 by 3I. Add 15 to 6l. What is the total of 49 and 527
Total 59 and 2. What is 78 plus |9?
Subtract a ‘near multiple’ | What is 55 subtract 2P What is 77 take away 29° What is 45 take away 299
of 10 from a two-digit Decrease 51 by 4. Subtract 51 from 62. Find the difference between 66 and W9
number Find the difference between 76 What is 98 minus 9P
and 3.
Add pairs of two-digit What is 25 add 237 What is 36 and W57 Add together 83 and 2\
numbers Increase 52 by 16. Add 15 to 67. What is the total of 42 and 757
Total 77 and 2. What is 98 plus II?
Subtract pairs of two- What is 55 subtract 227 What is 7| take away 4+2? Take 77 from 8l
digit numbers Decrease 1+7 by 13. Subtract 48 from 62. What is 45 take away 299
Find the difference between 76 What is 98 minus 9P Find the difference between 69 and 3l
and 24
Add multiples of 10 to What is 205 add 20?7 What is 23| and 40O? What is the total of 4O and 7517
three-digit numbers Increase 50 by 316. Add 55 1o 60. Increase 369 by 30.
Total 70 and 124 Total 587 and LO.
Subtract multiples of 10 What is 255 subtract 20? What is 271 take away 407 What is 545 take away 607
Jrom a three-digit Decrease 351 by 10. Subtract 50 from 262. Decrease 869 by 70.
number Find the difference between 176 What is 898 minus 107 Subtract 4O from 699.
and 20.
Add multiples of 100 to What is 338 plus 100? Increase 269 by L-00. Increase 500 by 376.
three-digit numbers Add together 800 and 22\ Total 88l and 500. Total 300 and 2L.
What is 25 add 900? What is +-35 and L-OO?
Subtract multiples of 100 | What is 550 subtract 1007 Take 800 from 8L4+7. What is 57 take away 4+00?
Jrom three-digit numbers | Decrease 510 by 100. What is W57 take away Subtract 500 from 862.

What is 486 minus 200?

200?




Quick recall of number aQ +__ 9. L8 +
pairs that total 100
6+ 62 + T
20+ 52 «+ 70+ _
Add to any 3-digit ___+ 257 =260 __ +872-2880 __+238 =300
number to make the next
10 or 100 533+ ___ =600 Wl + =450 _____+ 94 - 1000
L55 + =460 6ll + =700 776 + =800
Subtract pairs of 3-digit | What is 505 subtract 4977 Take 896 from 40l Find the difference between 706 and 697.
numbers with a Decrease 508 by 499, What is 4LO7 take away What is 50| take away 4+48?
i | 0 What is 406 minus 898? 399
Decrease 603 by 597.
Subtract ones from a 3- | Take 5 from 204 Subtract b-from 949. Find the difference between +86 and 7. What is
digit number What is 385 take away 77 What is 235 subtract 2? 673 take away 4+
Decrease 629 by 3.
Addjhmmall_mmhets [7+6+5 6 +15+1 7 +18 +9
h+1+9 8+ +3 6+16 +5
7 +7 + 4 d+12 +12 7+12+5
Subtract a 2-digit What is 500 subtract II? Take 4+8 from 800. Find the difference between 700 and 52.
number from a multiple Decrease 600 by 27. What is 400 take away 122 What is 500 take away I+
of 100 What is 400 minus 39? Decrease 600 by 33.
Add a. +—digit number What is 2045 add 27 What is 2317 and 42 Add together 8 and 24+57.
and ones Increase 5007 by 6. Add 5158 10 6. What is the total of & and 75157
Total 7806 and L. What is 9983 plus I?
Increase 3699 by 3.
Subtract ones from a b= | What is 5007 subtract I? Take 8 from 8002. Find the difference between 7002 and 5.
digit number Decrease 600 by 7. What is 005 take away 27 What is 5063 take away 4+
What is 4005 n%mus =% Decrease 6001 by 3. ! ’
Add a. +—digit number What is 2045 add 207 What is 2317 and LO? What is the total of 4O and 7557
and tens Increase 5007 by 60. Add 5158 10 60. Increase 3699 by 30.
Total 7806 and 4O. What is 9983 plus 10?
Subtract tens from a. - | What is 5007 subtract 10? Take 80 from 8002. What is 5063 take away L+0?
digit number Decrease 600 by 70. What is 005 take awa Subtract 50 from 823I.
What is 4005 W?Lnus aoe 20° ! Subtract 4O from 9432.
Decrease 600! by 30.
Add a. 4—digit number What is 2258 add 5007 What is 1316 and LOO? What is the total of I1+09 and 3007
and. hundreds Increase 1509 by 200. Add 2959 to 600. Increase 1698 by 300.
Total 200 and 124:8. What is 1089 plus 100?
Subtract hundreds from What is 5007 subtract 100? Take 800 from 8902. What is 5063 take away +O0?
a L-digit number Decrease 680k by 700. What is L605 take away Subtract 500 from 823l.
What is 4705 minus 900? 200° Subtract 400 from 94-32.
Decrease 670! by 300.
Add. and subtract What is 2045 add 2000? What is 2317 and L-000? What is 5063 take away +000?
thousands to/from a L Increase 5007 by 6000. Add 5158 1o 6000. Subtract 5000 from 823l
L Total 7806 and +O00. Decrease 670! by 3000. Subtract 4000 from 94+32.
Add a 2-digit number to | What is 25 add 2307 What is the total of 420 Add 15 to 670.
a.3-digit multiple of 10 Increase 520 by 16. and 75?7 What is 480 plus II?
Total 770 and 2L What is the sum of 690 Add together 830 and 2l
Total 87 and W4O. and 357
Subtract a. 3-digit What is 505 subtract 4+90? Take 890 from 40l Find the difference between 726 and 680.
multiple of 10 from a 3- Decrease 568 by 20, What is 407 take away What is 521 take away 4707
L What is 436 minus 8907 3909
digt number Decrease 673 by 590.
Add two 3-digit numbers | What is 250 add 230? What is 360 and 4+50° What is the total of 4+20 and 7507
(multiples of 10) Increase 520 by 160. Add 150 to 670. What is the sum of 690 and 3507
Total 770 and 240. What is 480 plus 110? Total 870 and W40.
Subtract 3-digit numbers | What is 500 subtract 4+-90? Take 890 from 9IO. What is 520 take away 4+70?

Decrease 560 by 20,

What is 70 take away

Subtract 850 from 9460




(multiples of 0] What is 930 minus 8907 3909
Number bonds to 1000 L6 + H67 + 3«
20+ 7h2 + 670 =
87 gk + L +
SJLhImCLa._S:dLgiI What is 5505 subtract 4-90? Take 410 from 2890. What is 352! take away 4707
multiple of ten from a Decrease 7568 by L+20. What is 1107 take away Subtract 460 from 7850.
lidi What is 8936 minus 8907 390°
Subtract a pair of What is 5005 subtract 49977 Take 2996 from 300l Find the difference between 7006 and 6997.
numbers lying either side Decrease 5008 by L9499, What is 5007 take away What is 500! take away +9887.
: | What is 2006 minus 19987 Lagqae
Decrease 6003 by 5997.
numbers I+ I+ 29 38 + It + 23 [7 + 18 + L9
I7 + 37 + Loy LA+ 12 + 12 6+ 16 + 55
Add decimals 1o ldp Find the total of 4.6 and 5.7. 2.3 plus 9l
Increase 7.9 by 6.5. Find the sum of L+.7 and 5.8.
5.8 plus 3.k Add together 6.5 and 8.9.
Subtract decimals to ldp Subtract 3.7 from 94.2. 6.7 minus 3.8. Decrease 6.7 by 0.8.
Take away 2 4 from 7.1. Find the difference between 8. minus 6.8.
Decrease 8.5 by 1.8. 7.3 and 5.6.
Recall decimal number
pairs that total 10 (to 5.5+ 3.8~ Fila
ldp)
0.6+ o T |2 4
I'" _"'r + '5 -3' + 1 _."r +
R leci
pairs that total 100 {to 455. 78k . 321+
i)
L53. 6.9. Sl +
LGf. 2« 80.8 4 0.6 +
Add tenths to a one-digit | What is 0.2 add 2.3? What is 3.6 and 0.5 What is the total of .2 and 0.7?
whole number and. tenths | What is 0.6 greater than 5.27 Add 05 t0 6.7. What is the sum of 6.9 and 0.37
Total 7.7 and O L. What is 9.8 plus O.17
Subtract tenths from a What is 5.5 subtract 0.27 What is 7.| take away 0.2?  Find the difference between 6.9 and O.3.
one-digit whole number What is 0.3 less than L.7? Subtract 0.8 from 6.2. Subtract O from 9.l.
What is 9.8 minus 0.9
Add two one-digit whole What is 5.2 add 2.3? What is 3.6 and 957 What is the total of 4+.2 and 7.77
numbers and tenths What is 7.6 greater than 5.27 Add +5 t0 6.7. What is the sum of 6.9 and 9.3?
Total 7.7 and 8 L. What is 9.8 plus 7.1
Subtract two one-digit What is 5.5 subtract 3.27 What is 7.1 take away 3.22  What is +.5 take away 2.9
whole numbers and tenths | What is 1.3 less than 4. 77 Subtract 5.8 from 6.2. Find the difference between 6.9 and 3.3.
Find the difference between 7.6~ What is 9.8 minus 7.9 Subtract 7.4 from 9.l.
and 44
Add ldigit multiple of What is 2500 add 23 320? What is 3600 and 45 What is the total of 4+200 and 75 671

Increase 5200 by 16 L60.

032?

What is the sum of 6900 and 32 8507




Total 7700 and 24 460.

Add 1500 to 67 038.
What is 4800 plus Il 1-73?

Subtract a l-digit What is 58 235 subtract Take 8900 from 99 30lI. What is 82 521 take away 47007
multiple of 100 from a L4700? What is 1+7 800 take away  Subtract 8500 from 96 299.
5_didi Decrease 56 238 by 4-200. 3900?
What is 99 936 minus 89007 Decrease 67 583 by 5900.
Added to a decimal +57-=6 +72=28 +38 =1
33+ __ =l bl =5 + 91 =10
whale number 55._ -6 e =2 76+ -8
Subtract two near What is 5005 subtract 19977 Take 3996 from 400l What is 500! take away 198872
multiple of thousands Decrease 5008 by 2999. What is 7007 take away Subtract 3996 from 80I2.
What is 7006 minus 19987 Lagqae Subtract 1990 from 50I5.
Decrease 4003 by 5997
Add two numbers with Add together 4+.87 and 3.62. Find the sum of 2.76 and Increase 3.71 by 5.63.
tenths and hundredth Find the total of 5.02 and 6.44. Find the sum of 1.92 and 4+ .86.
8.35. 1.53 plus 4.27.
Increase 8.32 by 7.5l
Subtract two numbers Subtract 2.73 from 8.95. 642 minus 5.17. Decrease 5.32 by 3.9k
with tenths and Take away 1.82 from 7.0k Find the difference between .56 minus 2.7L%.
Decrease 8.05 by 0.8l 3.67 and 9.93. Find the difference between 8.36 and L4+.72.
Subtract a |-digit whole What is 5 subtract 3.27 What is 7 take away 3.27 What is I take away 2.9°
number and tenths from What is |.3 less than L? Subtract 5.8 from 9. Find the difference between 6 and 3.3.
Find the difference between 7 What is 94 minus 7.9 Subtract 2.4 from 9.
and L L
Add large numbers What is 129 000 add 3% 0007  Add 150 000 to 67 000. What is the sum of
Increase 52 000 by 16 000. What is 480 000 plus 690 000 and 35 000?
Total 770 000 and 24 0O0O. [l 000? Total 870 000 and
L+ 000.
Subtract large numbers What is 550 000 subtract Find the difference between Subtract 62 000 from
449 000? 770 000 and 68 000. 780 000.
Decrease 750 000 by 42 000. What is 350 000 take Subtract 9 000 from 570 000.
away 17 000?
Add. any pair of l—digit What is 2500 add 2300? Add. 1500 1o 6700. What is the total of 4200 and 75007
multiples of 100 Increase 5200 by 1600. What is 4800 plus 11007 What is the sum of 6900 and 35007
Total 7700 and 2400. Add together 8300 and
24:00.
Subtract any le-digit What is 5500 subtract 494007 Take 1500 from 2800. What is 3500 take away 17007
multiples of 100 Decrease 7500 by 4+200. What is 5400 take away Subtract 6200 from 7800.
What is 8900 minus 83007 3900? Subtract 5700 from 94+00.
Decrease 600 by 2900.
Add decimals with Add together 4.8 and 3.62. Find the sum of 2.6 and Find the total of 94.04 and 2.8.
different number of Find the total of 5.02 and 8.3. 649 Increase 3.7 by 5.63.
Increase 8.32 by 7.5. 1.53 plus 94.2.
Subtract any number with | What is 5 subtract 3.21+3? What is 7 take away What is I take away 2.932?
3 decimal places from a What is 1.357 less than 4+ 3.2962 Find the difference between 6 and 3.378.
| Find the difference between 7 Subtract 5.846 from 9.
and L+ +86 What is 94 minus 7.976?
Added to any number +572-6 + 724 =8 + 90l =10
ith 2 deci
333+ =3k L L6 + =45 7.68 + =77
whole number 550.__ -6 U3+ =12 636+ -6k
Subtract decdmals with a. | Subtract 2.7 from 8.95. 642 minus 5.1. Take away 8.3 from 9.8l
different number of Take away 1.8 from 7.0k Find the difference between Decrease 5.32 by 3.1
) Decrease 8.05 by Ol 3.67 and 0.9. 456 minus 2 4.
Added to any number +5721-6 + 7248 =8 + 3895 = L+
ith 3 deci
333+ =34 L 462 + =5 + 90l = 10




5522 +___ =6 1136 + =12 7.687 + =77

What is the temperature after it rises 8 °c from -6°
What is the new temperature after it gets 4-°c warmer than -12°¢

The temperature begins at -16%, it rises by L% on Monday and by 8% on Tuesday. What is the new temperature?

What is the temperature after it falls 7° from -6°¢?
What is the new temperature after it gets 4 colder than -10°?

The temperature begins at 4, it falls by 4°c on Monday and. by
5% on Tuesday. What is the new temperature?




